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The lines 3y +1=6x+4and 2y +1 =x—9 are
1) parallel

2) perpendicular

3) the same line

4) neither parallel nor perpendicular

‘Which illustration shows the correct construction
of an angle bisector?
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The endpoints of CIJ) are C(—2,—4) and 1)(6,2).

What are the coordinates of the midpoint of CD?
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4 What is the measure of an interior angle of a
regular octagon?

1) 4as°
2)  60°
3)  120°
4y 135°

S In the diagram below, @ and PR intersect at T, P—Q
is drawn, and PS H OR.

S

= Q

‘What technique can be used to prove that
APST ~ARQT?

1) SAS
2) SSS
3)  ASA
4y AA

6 The degree measures of the angles of AABC are
represented by x, 3x. and 5x —54. Find the value of
x.



